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2t | sin ‘ cos ’ tan

25° 10,42 0,90/ 0,46
50° 10,76 0,63 1,19
70° 10.930.34 2,74

cos 50° + cos 25° x sin 50° — tan 25°
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@ 10° @ 20° ® 30° @ 40° ® 50°
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D 30° @ 35° ® 40° @ 45° ® 50°
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@ sin90° = cos 90° = tan 90°

@ sin30° = cos60° = tan 45°

® sin90° = cos 0° = tan 90°

@ sin90° + cos 90° + tan 45° = 2

® cos0° + tan 0° = sin 90°
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15. & 199 9 0 = AB = 10cm , BC = 8cm , AC = 6cm ©] 1L
/C = 90° <‘>_] 75]7_1'-/0-71-63 =
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CF = xem CE = xcm ©]10
AF = (@)cm , BE = (©) cm
AD =AF,BD=BE o|E&

AB=(9)+(©) =10
Lx=(0)

DO @D6-x @ O8-x ® ©3

@ BD =6cm ® BE =6cm
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18. tan(x+15°) =1 & o, sinx + cosx & F=7 (H, 0° < x < 90°)
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